I E Al Bl RO Bify = " &

T #EEIT 4 I (4D m3 280
BT B O+ m3 10
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B i A B fE 300 X 400 x 20004t k7 FA m 20
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SRR 300 x 300 X 20004 k7 FA m 14
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05 & AR t 3
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FU/AI m m
UEAIi#250A 375 0.58 21.8 0.33 124
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é 1.0 17.50 175 10.30 10.3
. AR
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25 BEDERAR 1.0 750 75 4.20 42
BB AR o
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. AR
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45 BB HEAR 1.0 3.20 3.2 1.90 1.9
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= AR
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= AR
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= AR
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= HFf
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= AR
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m
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16.0 11.40 114 6.10 6.1
m AR
B
BNHGRE 10 250 25 3.00 30
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1.0 2.00 20 1.20 1.2
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m m2 m2 m3 m2 m2 m3

NO.0 - 3.0 - -

NO.0 +4.59 4.6 44 3.70 17.0 0.7 0.35 1.6

NO.0 +12.47 7.9 3.0 3.70 29.2 0.1 0.40 3.2

NO.1 1.5 0.9 1.95 14.7 0.1 0.10 0.8

BC.1 5.8 3.2 2.05 11.9 0.2 0.15 0.9

NO.1 +7.33 1.5 2.9 3.05 8.4 0.10 0.2 2.7 1.8
NO.1 +11.63 4.3 7.6 5.25 42.4 8.1

NO.1 +13.65 2.0 3.3 5.45 20.1 3.7

SP.1 3.2 2.6 2.95 15.5 5.2

NO.1 +17.90 1.0 2.2 2.40 3.5 1.5

NO.2 2.1 2.0 2.10 6.6 3.2

NO.2 +2.40 2.4 2.5 2.25 9.2 4.1

NO.2 +5.73 3.3 2.2 2.35 7.8 3.3

EC.1 2.2 0.4 1.30 4.2 3.2
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m m2 m2 m3 m2 m2 m3
BC.2 4.6 0.4 0.40 1.8
NO.3 1.4 0.1 0.25 1.7 6.7
SP.2 9.9 0.05 0.4 8.8
NO.4 10.1 8.9
EC.2 1.2 6.4
NO.4 +15.14 8.0
NO.5 4.9
NO.6 20.0
NO.7 20.0
NO.7 +14.61 14.6 0.1 0.05 0.7
E.P 5.2 0.1 0.10 0.5
m m3 m3
=) B 159.9 195.6 6.7
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B+ m3 6.5
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m m2 m2 m3 m2 m2 m3
NO.0 - 26 - - 0.0 -
NO.O +10.0 10.0 238 2.70 27.0 0.0 0.00 0.0
NO.O +19.6 9.6 40 3.40 32.6 0.2 0.10 1.0
NO.1 +10.0 10.4 0.0 2.00 20.8 04 0.30 3.1
NO.2 +1.82 11.8 0.0 0.00 0.0 0.0 0.20 24
m m3 m3
g5 & 41.8 80.4 6.5
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L A C |AC=B| L+B
BC. 1 0.000 | 3.400
NO. 1+7. 33 1.506 | 3.400 | 3.400 | 1.506 | 0.227 | 0.341 1.8 15
NO. 1+11. 63 4. 300 1.700 | 4.300 | 0.113 | 0.487 4.8 15
NO. 1+13. 65 2. 020 0.000 | 2.020 | 0.000 | 0.000 2.0 15
SP. 1 3.248 0.000 | 3.248 | 0.000 | 0.000 3.2 15
NO. 1+17. 9 1. 002 0.000 | 1.002 | 0.000 | 0.000 1.0 15
NO. 2 2. 100 0.000 | 2.100 | 0.000 | 0.000 2.1 15
NO. 2+2. 4 2. 400 0.000 | 2.400 | 0.000 | 0.000 2.4 15
NO. 2+5. 73 3.330 0.000 | 3.330 3.3 15
EC. 1 2.243 0.000 | 2.243 | 0.000 | 0.000 2.2 15
G 22. 149 22. 149 23.0
BC. 2 0. 000
NO. 3 7. 442 0.000 | 7.442 | 0.000 | 0.000 7.4 30
SP. 2 9. 856 0.000 | 9.856 | 0.000 | 0.000 9.9 30
NO. 4 10. 144 0.000 | 10.144 | 0.000 | 0.000 10. 1 30
EC. 2 7.154 0.000 | 7.154 | 0.000 | 0.000 7.2 30
3 34. 596 34. 596 34.6
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L A C |AC=B| L+B
BC. 1 0.000 | 12.100
NO. 1+7. 33 1.506 | 12.600 | 12.350 | 1.506 | 0.823 | 1.240 2.7 15
NO. 1+11. 63 4.300 | 13.800 | 13.200 | 4.300 | 0.880 | 3.784 8.1 15
NO. 1+13. 65 2.020 | 11.000 | 12.400 | 2.020 | 0.827 | 1.670 3.7 15
SP. 1 3.248 | 7.400 | 9.200 | 3.248 | 0.613 | 1.992 5.2 15
NO. 1+17. 9 1.002 | 6.700 | 7.050 | 1.002 | 0.470 | 0.471 1.5 15
NO. 2 2.100 | 8.300 | 7.500 | 2.100 | 0.500 | 1.050 3.2 15
NO. 2+2. 4 2.400 | 13.000 | 10.650 | 2.400 | 0.710 | 1.704 4.1 15
NO. 2+5. 73 3.330 | 10.200 | 11.600 | 3.330 3.3 15
EC. 1 2.243 | 3.100 | 6.650 | 2.243 | 0.443 | 0.994 3.2 15
G 22. 149 22. 149 35. 1
BC. 2 0.000 | —3.100
NO. 3 7.442 | -2.600 | —2.850 | 7.442 | -0.095 | —0.707 6.7 30
SP. 2 9.856 | —3.700 | -3.150 | 9.856 | —0.105 | —1.035 8.8 30
NO. 4 10. 144 | =3.700 | —-3.700 | 10.144 | -0.123 | —1.251 8.9 30
EC. 2 7.154 | -2.900 | -3.300 | 7.154 | —0.110 | —0. 787 6.4 30
3 34. 596 34. 596 30.8
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15 &K HEf 1
25 K i Hif 1
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455K Hif 1
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Sl kR EARER
300 % 300 x 2000
it B AR m 2.0
300 X 400 x 2000
pididas m 20
300 X 500 x 2000
it B AR m 4
300 % 300 x 2000
L m 14
300 X 400 x 2000
luise m 20
300 % 500 x 2000
TR m 2
SEEERIOVY [1EHSEEERIOYY m 12.4
25 SEEERIOYY m 1.0
SESEEERIOVY m 7.4
AESHEEERIOVY m 10.0




i A O B = s &=
RIEE BHRAOfRAEE  [300EEH 54 26
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URIMAEE 25035 A " 69
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oA - RO | B EResH &
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UZII;E250A NO.0+6.3 ~ NO.1+5.8 375
it m 315 0.0 375

EFE17ED300 NO.0+6.3 35

NO.0+6.3 6.0
it m 9.5 0.0 9.5

15 BB AEAIE NO.0+4.8 ~ NO.1+6.2 21.9
it m 21.9 0.0 21.9

28 B RAERAIE NO.1+6.2 ~ NO.1+14.2 10.0
it m 10.0 0.0 10.0

3B B HAERAE NO.2+2.4 ~ NO.2+16.0 13.8
it m 13.8 0.0 13.8

15 B HAERAIE NO.2+16.0 ~ NO3+0.7 4.0
it m 40 0.0 4.0

65 B A ERAIE NO.7+8.2 ~ NO.7+20.2 12.0
it m 12.0 0.0 12.0

1S5k NO.0+6.3 1
it asil 1 0 1

25 &k #t NO.0+6.3 1
it asil 1 0 1

3E &k #t NO.0+6.3 1
it asil 1 0 1

4S5k #t NO.1+6.2 1
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NO.2+16.0 1
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5 T 4 0 4
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300 x 500 17 20
AIZAEENER
I i& TE5E H E® wH &
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" it b 2> 18 A 7 L=0.5m
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NO.0+2.6 ~ NO.0+6.3 4.1
5 m 7.4 0.0 7.4
AESHEERIOVY NO.0+2.2 ~ NO.0+12.2 10.0

g m 10.0 10.0
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NO.2+10.9 ~ NO.3+0.7 9.0
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BEHiksH NO.0+6.3 1
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i H 5 0 5
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e B8 W=0.45m m 32.0
ZIE IR B £5 W=0..30m m 2.8
IFEH m 19 |(15cmia®)
£I5 Hf W=0.30m m 243




366 ¢1+¢ ON[¢ 08 ,

9 5
m * : . ®
. (- . UG Sy=1 B 14
¥ hwv , 16 [+CON |03 ®
/ 2 |
. = wg "Gg=" L ch ,, e
2 el / ON - ®
W v K :
// +¥ oN®
// / v
\ M@ i
N ///
\ @ '
N /@ : E.%e/o ®
\ el L1+ ON
w @ // : T~
o N ‘1+] ON®—O— : —
" /@/ wK @ B o Tone oo 00
L C ™ Y [ —— :
] " ov mwy\\;\\\ Sy %
l ,/@ SR S == "= e S, Sl R e o S — e it =5 ()|
—— -~ e —— : -
Rk > ) N
l \\ O ,wnﬂﬁ.momt — —_— //'/O o
1 O O 8] o} O =
! - 7
f) ®
l \\\ o = \L @ Mw/ N J \:
\ \ @ Z @.QM % : /
%@ \\ © ) 2 m.wx -\ VNwM/
/ o 1-0°1 . ,
~ ) )  E———— ,
! we "¢= C ol snsvanin ,
—— \& ’ [ MWWWM.WM%&H i wwwmww
; ® T—— || ¥ 15=1 Bl T R
\&%@ ) \IO// jﬂ [} o 20/Exy 3 =¥ o--co{ ]
b | 37 0 Y LER




BEVMHBEIRERLESR

A A RO® B | 2 " =

HEIE Y EREL T avy ) — FEUR m3 15.0
& % hi R R t=4cm m2 556.9
RS avyy—=r m3 15.0
no& —n— t 35.3 |15 % 2.35
RS i m3 22.3 [556.9 x 0.04
w5 & —n— t 51.2 [22.3 % 2.35
FRIF7ILEAYE—HIET [t=4cm m 99.9
n5& BE-& t 8.0
s AR t 3.0

WHE ) t 40
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m m2 m2 m3 m2 m2 m3

NO.0 - - -

NO.0 +4.59 46 0.6 0.30 1.4

NO.0 +12.47 7.9 0.2 0.40 3.2

NO.1 1.5 0.2 0.20 1.5

BC.1 5.8 0.3 0.25 1.5

NO.1 +7.33 1.5 0.1 0.20 0.3

NO.1 +11.63 43 0.1 0.10 0.4

NO.1 +13.65 2.0 0.05 0.1

SP.1 3.2

NO.1 +17.90 1.0

NO.2 2.1

NO.2 +2.40 2.4 0.1 0.05 0.1

NO.2 +5.73 3.3 0.1 0.10 0.3

EC.1 2.2 0.1 0.10 0.2
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m m2 m2 m3 m2 m2 m3
BC.2 4.6 0.1 0.10 0.5
NO.3 7.4 0.2 0.15 1.1
SP.2 9.9
NO.4 10.1
EC.2 7.2
NO.4 +15.14 8.0
NO.5 4.9
NO.6 20.0
NO.7 20.0
NO.7 +14.61 14.6 0.2 0.10 15
EP 5.2 0.2 0.20 1.0
BFTERYIEL 1.9
m m3 m3
a B 159.9 15.0
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6 (o5 2.0 E
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9 [EASFEIEA 1.5 E
10 |[ZRY7F 1.5 F
11 [ ZRYTF 1.5 F
12 [EA4SFXEIEA 1.5 F
13 [EA4SFEIEA 1.5 F
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20 |[EASFEITA 1.5 E
21 U % 1.5 G |[ESF&E
22 [7¥x 50| 080 C [ESFZ&
23 |[FRJ7F 1.5 F
24 |[3F5 20 021 G
26 |[ERSYV—A 70| 100] B
26-1|EXSYV—4 70| 100] B
262 |[EXRSV—F 70| 120] B
26-3|F= 25 F
28 =Y 30/ 050 D [¥HYXH
29 [®Y 30 050 D [HYx&
30 [V 30| 050] D [HY%XE
31 | EASFEIEA 2.0 E
32 ['U/E 1.5 G |Y5E
33 [HHh 2.0 F
34 [**% 3.0 D [HYx&
38 [7r¥+x 80| 090 B
39 |[VR_ 80| 150 A [H ITaUI%E
0 |EMSFEIEA 25 D [UI%&
43 =Y 60 080 C
44 [ DAXAA4T* 60 120 B
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EEBi5E %% NO.1+3.0 1
5 Al 1 0 1
&% M NO.0+14.5 3.3
NO.0+14.5 2.3
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SN 017mx0.17m%x1.2m=0.035m3
0.035m3x%2,500kg” m3=288kg

SR (K) 0.8mx1.00mx1.20m=0.96m3
0.96m3x2,500kg” m3=2,400kg

A 0.12m X 0.12m X 2.0m=0.03m3

0.12mx0.12mx1.4m =0.02m3
0.05m3 X 2f& il X 2,500kg.” m3=250kg

Bisa 1.38mx1.55mx1.5m=23.21m3
3.21m3—(1.2m X 1.4m X 1.5m)=0.69m3
0.69m3 x 2.350kg”m3=1,622kg
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7 |BAKBA—ERYIR 11 & KERIG
B-1 |E2:&& (/) 1| £ |2EJL—X&HS
B-2 |EEi&iE (/) 1| & |2E2s®XBRALHSE
B-3 |EEERE () 1| £ |2EJL—X&HS
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